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[ sttt ]
(600 ) Al 8:(610) YY+A  Meh(611) AH8=2 =:(02) 7IEESIr-AIER (T2l - H)
I
) A 204,308,080 (215,708,469 | 211,400,389
600 At4< 152,961,607 [151,582,010| 1,379,597
610 4+ 149,223,866 (147,749,422 | 1,474,444
611 ARBE4 149,216,558 (147,749,422 | 1,467,136
02 7188steEA8R 54,439,701 | 51,432,590 | 3,007,111
071dE 54,439,701,000¥ = 54,439,701
06 YBtEsteTAER 36,043,529 41,126,193 | A5,082,664
O YttE 36,043,529,0009 = 36,043,529
08 CHSEEstrAtER 3,829,728 | 4,200,848| ~371,120
O HISEE 3,829,728,000% = 3,829,728
10 MALSHESIT-ZAIERE 54,903,600 | 50,989,791 3,913,809
O L E 54,903,600,0008 = 54,903,600
661 7|EtE P 7,308 0 7,308
03 7lEterEsY 7,308 0 7,308
O 23 0|HR|Y 5l ALB =R 2E- =42 100,800,000¥%7.25% = 7,308
670 FYelsY 3,737,741 | 3,832,588 ~94,847
671 O|Z2 213,000 384,000 ~171,000
01 ofZ0|Atr 213,000 384,000 ~171,000
© 0| Z20|AtsY 30,000,000,000%0.71% = 213,000
672 ERRAMUZSTY 854,685 818,532 36,153
01 Yuts|AHYU= 854,685 818,532 36,153
O AAAHAO| 4 2471 S Stk ABE 2T
7,305M|CHx9,750¥x1271E = 854,685
679 7[EtF YLl 2,670,056 | 2,630,056 40,000
09 7lEtggelsd 2,670,056 | 2,630,056 40,000
O BstaA2|d SAS2Y 7| YExelAld 2£Y3(SBK)
5,900Ex10,820%x12¥ = 766,056
O B2 251E2|H M22|Ald 23| 12,500,000¥4x12% = 150,000
O 25t 2|2 SBK 7tATHO Eat= 142,000,0009x12% = 1,704,000
O BYH+H2|Y SRAL AR 40,000,0009 = 40,000
O &FAIE 10,000,0009 = 10,000




E(173) ElfAEERES4Y  =:(01) TuE2ge

(Er9] : 2l

(Rl

Ea = quey | ZEG| 32
BoY-ME-S of A of
100 A2+ 51,346,473 | 64,126,459 | 212,779,986
170 A2doz+Y 34,723,545 | 39,794,000 | A5,070,455
173 ERRAHHEEZZ S 20,483,545 | 24,424,000 | A3,940,455
01 ZNEZFFY 20,483,545 | 24,424,000 | A3,940,455
O stz ZHIAY 14,282,000
O Yot 2|1 stttz 414 1,845,000,000% = 1,845,000
O 23 &5t FHIZAH32 237 540,000,000& = 540,000
O s2Xe2|7Y (2, St A2z BEAY 997,000,000¥ = 997,000
O L5 51422 51422 | 2AHARE) 1,600,000,000% = 1,600,000
O 2|0k 2|7 2 2= HH|SA 819,000,000% = 819,000
O 24tq2|7Y Stz Al M 586,000,000& = 586,000
O 06 HOofRl Stet2 4 H| AUHATURAIH(BTL) AlLUTHZ
2,333,000,0009 = 2,333,000
O 08 Y -2 B| ACHHDIZAIH (BTL) Al LUTHZ
5,562,000,0008! = 5,562,000
O 3ot 2|Ald 43| 6,130,000
O AU 2| Al A ZMALY 188,000,0009 = 188,000
O YRSk Al SEAIY 1,250,000,000¥ = 1,250,000
O SUSHRAHSIAIE HEALY 3,456,000,000¥ = 3,456,000
O 2lofstrH2|Ald SEALY 536,000,000& = 536,000
O 24teteHe|Ald S48 L 7HZALY 500,000,000& = 500,000
O ot 2 Al Y ALY 200,000,000¥4 = 200,000
OYORI+ANLEAIH A LED RAS 71,545,000 = 71,545
175 SAREZ+Y 14,240,000 | 15,370,000 | A 1,130,000
09 VIEISAIREES+Y 14,240,000 | 15,370,000 | A 1,130,000
O HAAREHF 14,240,000
O3t 1,250,000,000¥ = 1,250,000
oY+ 4,220,000,0009 = 4,220,000
OX= 610,000,000 = 610,000
o &+ 4,000,000,000¥ = 4,000,000
O 23 2,850,000,0009¥ = 2,850,000
O 20t 1,310,000,000% = 1,310,000
180 REAZ 16,622,928 | 24,332,459 | 27,709,531
181 =MALAZ 15,622,928 | 23,532,459 | 17,909,531
01 TMAYNHZ 15,622,928 | 23,532,459 | A7,909,531
oEMAYAZ 15,622,928,0009% = 15,622,928
182 O|&a 1,000,000 800,000 200,000
01 Jdolx=z 1,000,000 800,000 200,000
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